a/KEARERRI(TH2E

6 H)

1HH BRI HAEE £ LN #FuE
# Kk & A H 68248 68248 68248
REMER EHHLTKER mEHHLTKER
Rk R GOBPETAR o LEEER K TERERH
3% X B Zl 9:35 9:30 10:20
= A x & EiERE EiEARE B R E
= B (°c) 299 28.4 26.6
7K B (°c) 26.3 246 25.7
— % B ] (% /mL) 100LLF 0 0 0
N iz ) BREShENIE N 1] T e
FOWH B E R SR (mg/L) 0.04LLF 0.004K % 0.004K% 0.004K %
TVERVUZDILEY (mg/L) 08LLTF 0.08 0.08 0.08
15 ES [ (mg/L) 06LLTF 0.06 0.07 0.06
72N == SN (mg/L) 0.06LLTF 0.008 0.006 0.007
D2/ = = (mg/L) 0.03LLTF 0.002 0.002 0.002
SO AOQARY (mg/L) 0.1LLF 0.004 0.003 0.003
“Bhkyonnprtey (mg/L) 01LLF 0.019 0.015 0.016
TR A= R = (mg/L) 0.03LLTF 0.002 0.002k ;i 0.002
JoET/O0r4y (mg/L) 0.03LLTF 0.007 0.006 0.006
Ja F K I L (mg/L) 0.09LLTF 0.0013K i 0.0013K i 0.0013Ki
FILEZYLRUZDILEY (mg/L) 02LLF 0.05 0.04 0.03
BEUZTODIEEY (mg/L) 03LLTF 0.005K % 0.005K % 0.005kK %
B 1t W A4 & > (mg/L) 200LLF 13.1 13.0 12.1
S T F R = v (mg/L) 0.00001LLF 0.000001K#% 0.000001 K 0.000001
2-2F AR MR A= (mg/L) 0.00001LLF 0.000001 0.000001 k& 0.000001
HEMEERRETOCDE) (mg/L) 3LUT 0.7 0.6 0.7
pH iE 58LLE86LLTF 7.2 73 7.2
S BEETRHNIE BEEGL BEGL BEGL
R = BEETRHNIE BEGL BEGL BEEGL
=) E () 5L 0.5k 0.5k 0.5K %
A 3 (%) 2T 0.1k 0.1k 0.1K5%
W BB R (mg/L) 01l E 0.3 0.4 0.3
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